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1. Write your Roll No. on the top immediately on receipt of
this question paper.

2. All questions are compulsory.

Use of Simple Calculator is allowed.

FunTimes Ltd. is a company dealing in kids toys. It was

once a big-time brand, but with intense competition in the

segment it is finding it difficult to struggle and survive in

the market. The company management is planning to
diversify into kids r ear segment. They wish to know
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customer response to the new line and how much their
brand name will help in launching the kids Wear line.for
which they want to appoint you as a researdher. Prepare

a Research Proposal clearly stating all the stages of the

research process to address the above issues, (15)

(
(a) Distinguish between Probability and Non-Probability

Sampling. (7.5)

(b) Iceberg Ice creams has launched a new advertising

campaign for its exotic flavors of ice cream. Iceberg

wants to test the impact of the new commercials on its

sales. What research design should it adopt in the given

situation? Justify your choice. (7.5)

In September last year, Mondelez India Foods Pvt. Ltd
introduced Cadbury Fuse, a premium bar chocolate, pitting

it against Mars Snickers. Cadbury Fuse is a fusion of
peanuts, caramel and chocolate cream, priced at Rs. 20 fo6

a 2i-gram bar and Rs. 35 for a 45-gram bar. Mars Snickers

costs around Rs.35 for a 50- gram bar.

Fuse was Mondelez's fourth product launch last year. In

August last, it introduced Cadbury Dairy Milk (CDM)

Marvellous Creations and CDM Silk Miniatures in India. In
April, it launched two new types of biscuits.
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Cadbury's Dairy Milk is the biggest chocolate brand in
the country and its Cadbury 5 Star brand already

dominates the non-premium chocolate bar segment.

Mondelez accounts for over 65% of the Rs. 7,500 crore

chocolate market in India, according to AC Nielsen's

research.

Design a questionnaire to be used in a research project

to study consumer awareness, perception and satisfaction

with Cadbury Fuse. ( 15)

(a) Econetics Research, a well-known Mumbai-based
consulting firm, wants to test how it can influence the

proportion of questionnaires returned from surveys. In

the belief that the inclusion of an incentive to respond

may be important, the firm sends out 1,000
questionnaires: 200 questionnaires promise to send

respondents a gift voucher, 300 questionnaires state that

respondents will be awarded gifts, and 500 are

accompanied by no incentive. The table given below

summarizes the number of questionnaires that were

returned under each category :

Incentive J

Questionnaire Gift Voucher Gifts No Incentive
Returned 80 100 120

Not returned 120 200 380

4
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Does the data provide sufficient evidence to infer that

the number of questionnaires returned by the respondents

is independent of the incentive? Test at 5% level of
significance. (7.5)

(b) Many stores sell extended warranties for their products. ^
These are very lucrative for store owners. To learn

more about who buys these warranties, a random sample

of a store's customers who recently purchased a

product was taken.

Male Female
Sample Size 229 t78

Number who purchased Extended Warranty 25

Can we conclude al 5o/o level of significance that an

equal proportion of male and female customers bought

an extended warranty? (7.5)

Write short notes on any three : (3x5=15),-,

(a) Survey vs. Observation method of data collection

(b) Projective Techniques

(c) Extraneous variables in Experimentation

(d) Concept and application of ANOVA
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